4.1-4.3 Quiz Review (work).notebook January 08, 2024

Y-1nt b=20 slope m=23
1. Your family spend{(gZ0 Tor tickets Yo the aquarium and §3 pexd@oulyor parking. Write an equation

in slope-intercept form that gives the total cost of your family’s visit to the aquarium as a function
of the number of hours that you are there( End the total cost of 4 hours at the aquarium.”)

N = 22X +30
c(X)=3x+30
cCy) = 3{) + 30
c(4) = $'42]

Y=¥i=m(x—x))

2. Write an equation in point-slope form of the line shown in each graph below.
s (2,2)
A

=adEE ERENE xl \/‘ . )

m: = ’5"‘ _2
, \)—-‘3= -2x—F)
~2=5(x-2) ™=

7( +|= —'Z(K-—\Q
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3. Write an equation ixpoint-slope fornif the line that passes through (-5,-19) and (5,13).
X
XQ__ >< ¢

\3 +19 32
m= S+5 — v

= le
5

y +19= 42 (x+ 9
OR
Y -B=(x-5)

y-£3=2(x—4

)

4. Graph each equation below.

a) y-5=-3(x-1) c) y+3=2(x+4)

o g
8 T T
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, = Sy
¥-int slope M= DX
5. A school district pays an installation fee and a mont 1y fee for Internet service. The table below
shows the total cost of Inzt-ernet ser\rlit’e for the schpol district over di‘f_ferent numbers of months.
ri -+~

(\»]
Months of | 2 4 6 8 10 12 =
Service Ax 2-
Total 9,378 12,806 16,234 19,662 23,090 26,518
s A=3128
a) ExpTz%"r’)z &yﬁ m%uatlon can l?u %eled-?y azT%eaf"E uZ?’?l ¥ 3"'2-%

H's mcreasing by the same amovnt eda. month,

b) What is the installation fee?

319150 by _ 3429
¢) What is the monthly fee? Oy _
g1z M T

mM=10,000
6. During the period 1994-2004, the annual sales of a small company increased by{310,000 pexyeay
In 1997 the annual sales were $97,000. ﬁ 0 9[0 S
G Vears o Gemxe o (3, 9%00D [

a) Write an equation in glope-intercept form that gives the annual sales as a function of the

number of years since 1994. Yyeavr O y . \/ = m ( X _/K%_\‘
S Y = 9%000= los60(X — 3)

| | ~ 9300 = 1q000X - 39000
b) Find the sales in 2000. \I .l.gq, 00 302 ODO

‘9 Year (A
= 10,000X +67#,000

$12#,000 ]
\ Y= 10,900(6) 4 62,000
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7. From 1990 to 2001 in Boston, Massachusetts, the annual excess fuel (in gallons per person)
consumed due to traffic delays increased by about 1.4 €allonS)pergseTson per yems In 1995 each
person consumed about 37 gallons of exc el. SlOpc m=| '_,

bl X

a) Write an equation 11(1 sﬁﬁe-intercept form that gives the annual excess fuel (in gallons per
person) as a function of the number of year
—Yi=mMCx—%)
V== 14X -
VAT E
= \.4X 430

b) How much excess fuel was consumed per person in 20017 Year 1

7:1.%”) + 3D
)’: 154 4+ 30

)’-: L’E.L! galloné

8. A news article reads as follows:
“From 1970 to 2000, the number of Sunday newspapers in circulation increased at
a relatively constant rate of 11.8 newspapers per vear. In 1997 there were 903 Sunday

newspapers in circulation.” mn=Il. 6 ‘[alf KA o

a) About how many Sunday newspapers were in circulation in 1970? CZ?’ qo?’)
Year D

about 5¢4 “CWSPO:]GGVS

b) Write an equation in slope-intercept form that gives the number of Sunday newspapers in
circulation as a function of the number of years since 1970.

Y‘\/l = MCX'X,)
V-903= I.&( X~ 27)
ﬁqog% ”'“IS’J?'G’

= |[. BX + 584.9
c¢) About how many Sunday lwspapgs were in 't;ll.rculation in 20007 chr 30

\= I.2(30) +5%4.4
= 93%

Abowt 939 Newspapers
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9. From 1990 to 2001, the number of airports in the United States increased at a relatively constant
rate of 175 airports per vear. There were 19,306 airports in the United States in 2001.

(i, 2200)

a) How many U.S. airports were there in 1990?

“year O
1#,3%) air porbs

b) Write an equation in slope-intercept form that gives the number of U.S. airports as a function of
the number of years since 1990.

N —=\Va30b= \3s(x —1)
\,—\”I3Dlo= \3FSx —\92S
+ 19306 + \306

Y= 135K+ 1338

c) Find the year in which the number of U.S. airports reached 19,200. Y_v q\.ve

2,200 = [¥5X + %38
ol = ,38)
|19 = 135X
#S 135 X="1034%...—2000
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